3.1.4

5-5 in the Majors 

Here we consider the situation where responder has two five card majors. Remember that all 5-4’s, 6-4 etc. are shown via Stayman, so we are concerned with the situations where responder is at least 5-5 in the majors.

We have already covered weak hands, we bid 2( and then our best 5 card major if partner responds 2( (Garbage Stayman). We do not play Crawling Stayman as it is unsatisfactory when 5-4 (and for most other situations). 

So here we consider invitational and strong 5-5’s. There are a few methods used to show these 5-5 hands. 

Some players use the direct jump to 3(/( (3( either weak or invitational, 3( game forcing). We have a better use for these jumps and they really take up too much room, they are covered in section 5.2.

One rather out-dated method with 5-5’s is Extended Stayman (1NT - 2( - 2( - 3(). But the problem is that there is no differentiation between invitational and strong hands. Also, of course, we use this sequence as a Quest transfer.

Another practice in common use by many players is: -

1NT  -  2(  -  2(  -  2(
shows 5-5 in the majors and is invitational
Note. We don’t

1NT  -  2(  -  2(  -  3(
shows 5-5 in the majors and is game forcing
use this.

The major drawback with using the second sequence is that there is little room for manoeuvring, especially when looking for slam. Actually, since the first sequence is at a very low level we can use it for both invitational and strong 5-5 hands. The 2nd sequence will be re-defined later in section 3.1.5.

Before we start, does the sequence 1NT - 2( - 2( - 2( have another meaning? Some players who use the direct jumps to show the 5-5 hands use this 2( bid here as a Walsh Relay (which involves various hand types and negates the transfer). I don’t particularly like this 

– a transfer is a transfer and you may well run into problems after a super-accept or if the opponents intervene. So no Walsh relays and 1NT - 2( - 2( - 2( shows our major suit 

5-5’s, both invitational and game forcing.

Invitational Major two Suiters

Another common use is that 1NT  -  2(  -  2(  -  2( shows 5-5 or 4-5 in the majors and is invitational. This is quite reasonable, but needs to be expanded upon to include invitational 5-4’s. Now later I give a complete scenario for all invitational and game forcing 5-4, 4-5 and 5-5’s but if, for some strange reason, you don’t like Quest transfers then the following is a respectable scheme for all of the invitational hands. The responses must, of course, be kept below 3( as partner may be minimum: -

After 1NT  -  2(  -  2(  -  2(, 2NT enquires: -

3(
=
5 (’s & 4 (’s


3(
=
4 (’s & 5 (’s
Note.

We don’t use this.


3(
=
5 (’s & 5 (’s

Now the initial transfer promises 5 (’s but the 2( bid means that it may be only a 4 card ( suit. I have stated earlier that I do not like a bid that transfers and then later gets negated, but this time it’s slightly different. If partner super-accepts (I explain all of this later) there is no problem as you then (hopefully) have a 4-4 ( fit with a max partner and so simply bid the ( game.

So this scheme is (reasonably) sound and opener should be able to select the best contract. Game forcing 5-4 & 4-5’s then go via Stayman and a jump to the 3 level over 2(. Game forcing 5-5’s would then use 1NT - 2( - 2( - 3(. 

Fine, everything is covered but Quest transfers really are superior and have numerous other benefits (including the obvious one that opener is usually declarer) and our method of showing both invitational and game forcing 5-5’s (coming up next) is at a lower level and so is much more accurate.



_________________________

OK, but with only one sequence (1NT - 2( - 2( - 2() to show both invitational and game forcing 5-5’s, how does opener know if responder has just invitational or game going values? 

Simple, he just asks! The next bid up (2NT) asks and, what’s more, responder’s reply will indicate his shortage and so aid declarer in any borderline game decisions: -

When responder has just invitational values, his response must obviously be kept at or below 3(. We do not have the full range of bids available as in the game forcing case (where we can go up to 4() and so we use just two bids (3( and 3() to show where our shortage (could be singleton or void) is. 

So when responder has an invitational hand we have: -

After 1NT - 2( - 2( - 2(,  2NT by opener asks: -

3(
=
( shortage, invitational

3(
=
( shortage, invitational.

After either of these invitational responses opener may pass (a 3( response) or bid 3(, 3(, 4(, 4( or (very unlikely) 3NT to play. 

And if responder has game going values he has many more options: -

3(
=
a game forcing hand *
4(
=
void (
3(
=

4(
=
void (
3(
=

4(
=
no slam interest

See note after 

3(
=
singleton (






example 14 for a 

3NT
=
singleton (
5(
=
EDRKCB


possible use of the 




5(
=
EDRKCB


4(/4NT bids.

EDRKCB is explained shortly. But what’s with this * game forcing hand 3( bid? I give some examples of this in a minute, but it is used when responder has a weak doubleton (or triplet) minor in order to warn opener of two possible losers off the top there. This 3( bid is a puppet to 3( and responder then usually defines hid shortage although it may just be because responder wants to use DRKCB (at a low level). Note that we don’t use 4NT above (as DRKCB) because the responses may get us uncomfortably high.

After 1NT - 2( - 2( - 2( - 2NT - 3(,  3( by opener asks: -

3(
=
small doubleton (


3(
=
small doubleton (
3NT
=
DRKCB

4(
=
small triplet ( (thus a ( void) 

4(
=
small triplet ( (thus a ( void) 

4(
=
The 4( response is used to show 5611 and 6511 hands and is defined (together with a slight addition to the meaning of the 4( and 4( responses) in section 3.1.4.2.

The 3(/( responses are an interesting example of change of captaincy. After a 1NT opening, responder starts off as captain. After an invitational 3(/( response opener knows that responder has about 11 points (probably way less in HCPs because of re-evaluation due to shape) and takes charge, either bidding game or not. The slam interest sequences are more of a dual captaincy situation, opener knows responder’s shape pretty well and that responder has slam aspirations, responder knows the combined points total.

Anyway, it’s time for a few examples: -

Example 1

West
East
West
East

(1)
transfer







(2)
normal accept

( AK10
( J9752
1NT
2(
(1)
(3)
5-5 in the majors

( 985
( KJ1042
2(
(2)
2(
(3)
(4) relay


( KQ7
( 6
2NT
(4)
3(
(5)
(5)
invitational, ( shortage

( A732
( J5
3(
pass

West has good trumps, but with wasted values in partner’s short suit he signs off.




______________________

Example 2

West
East
West
East

(1)
transfer







(2)
normal accept

( AK10
( J9752
1NT
2(
(1)
(3)
5-5 in the majors

( 985
( KJ1042
2(
(2)
2(
(3)
(4) relay


( KQ7
( J5
2NT
(4)
3(
(5)
(5)
invitational, ( shortage

( A732
( 6
4(
pass

This time game is far more likely to succeed. So the knowledge of partner’s shortage is an important factor for opener deciding whether to go to game or not.




______________________

And explicit information about responder’s shape will guide slam decisions when responder has game forcing values: -

Example 3

West
East
West
East

(1)
transfer







(2)
normal accept

( AKJ4
( Q6752
1NT
2(
(1)
(3)
5-5 in the majors

( AQ5

( KJ1042
2(
(2)
2(
(3)
(4) relay


( Q9
( A6
2NT
(4)
3(
(5)
(5)
game force, singleton (
( 9852
( 6
etc to 6(



______________________

Example 4
But if responder has the wrong singleton then it’s easy to stay low.

West
East
West
East

(1)
transfer







(2)
normal accept

( AKJ4
( Q7652
1NT
2(
(1)
(3)
5-5 in the majors

( AQ5

( KJ1042
2(
(2)
2(
(3)
(4) relay


( Q9
( 6
2NT
(4)
3NT
(5)
(5)
game force, singleton (
( 9852
( A6
4(
pass



______________________

Example 5


So that’s all very fine, but what are these weak doubleton and triplet showing bids?

West
East
West
East

(1)
transfer







(2)
normal accept

( AQ94
( KJ752
1NT
2(
(1)
(3)
5-5 in the majors

( AJ8
( KQ1094
2(
(2)
2(
(3)
(4) relay


( Q87
( J6
2NT
(4)
?

( A82

( K

  
West now has a problem if East’s reply of a singleton ( said nothing about his doubleton  

( holding. Basically, the Jacoby bidder usually has 3 cards in the minors, often split 2-1, and it may be essential for opener to know if there are two losers in a suit. This ‘small doubleton or small triplet’ is defined as two top losers. 

West

East
So, in this example 5 we have solved the problem by having





the 3( response to 2NT as showing game forcing values with a


1NT

2(
weak doubleton (or triplet). Opener then relays with 3( and 

2(


2(
responder shows his weak suit and minor suit distribution.

2NT

3(
(5)
(5) game forcing

3(
(6)

3(
(7)
(6) relay

4(


pass

(7) weak doubleton (
Note that as a result of us having these weak suit bids, if responder does directly show a singleton or void then his doubleton must be Ax or Kx.

Example 6
But if East’s minor suits were reversed, then slam is there: -

West
East
West
East

(1)
transfer







(2)
normal accept

( AQ94
( KJ752
1NT
2(
(1)
(3)
5-5 in the majors

( AJ8
( KQ1094
2(
(2)
2(
(3)
(4) relay


( Q87
( K
2NT
(4)
3(
(5)
(5) game forcing
( A82

( J6

3(
(6)
3(
(7)

(6) relay






?
(8)



(7) weak doubleton (
Now West is definitely interested in slam, and the next logical step is to ask about key cards. East is 5-5 in the majors and has no idea which is the key suit. In fact, both suits are key! The king in any 5 card suit is very important and so in this situation we employ Double (or two-suit) Roman Key Card Blackwood, DRKCB.

This is covered (and our example continued) in the following section: -

3.1.4.1

Asking for Aces or Key cards when Responder is 5-5 in the Majors
The trump suit has not yet been established, only opener knows. After the response to the 2NT enquiry (or after the response to the 3( weakness enquiry), opener uses the next available bid (not 4 of a major suit – that would be an attempt to sign off) to ask for key cards. Since no trump suit is yet defined we use two suit, or Double RKCB (DRKCB), so there are 6 key cards. 

We use the next free bid as our DRKCB ask and so the responses are: -

Next step
=
0 or 3 key cards
 

Next step + 1
=
1 or 4 key cards


Next step + 2
=
2 or 5 key cards, no (Q or (Q

Next step + 2
=
2 or 5 key cards + (Q or (Q or both

Note that only opener knows which suit is trumps and so the 2 key card response cannot be specific about which queen.

So how does our example 6 progress?


West
East
West
East

(1)
transfer







(2)
normal accept

( AQ94
( KJ752
1NT
2(
(1)
(3)
5-5 in the majors

( AJ8
( KQ1094
2(
(2)
2(
(3)
(4) relay


( Q87
( K
2NT
(4)
3(
(5)
(5) game forcing
( A82

( J6

3(
(6)
3(
(7)

(6) relay






3(
(8)
4(
(9)
(7) weak doubleton (




6(
(10)
pass


(8)  DRKCB









(9)  2 key cards + a (/( queen









 (10)  one key card missing, so 6(.

If East had had 3 key cards (so the (A here), then it’s 7(.

Wow! We covered a lot in that example. It’s probably best to have a couple more to make sure that it all works: -





________________________

Let’s have an all-singing all-dancing example. We are using DRKCB but responder is known to have at most 3 cards in the minors – minor suit kings are unimportant and the next bid after the key card response asks for key queens. 

Here we need to know about asking for the major suit queens after the initial response to DRKCB. The next bid (not 4 or 5 of a major if no trump suit has been agreed) asks for the queens, the responses are: -

Next step
=
no queen
 

Next step + 1
=
(Q


Next step + 2
=
(Q

Next step + 3
=
both queens

Example 7
(1)
transfer





(2)
normal accept

West
East
West
East

(3)
5-5 in the majors






(4) relay


( A106
( KQJ75
1NT
2(
(1)
(5) game force, void (
( AJ87
( KQ1094
2(
(2)
2(
(3)
(6) DRKCB


( K87
( A64
2NT
(4)
4(
(5)
(7) 3 key cards
( QJ2

( -
4(
(6)
4(
(7)
(8) queens? 



4NT
(8)
5(
(9)
(9) both




7(

pass




If opener attempts to sign off and responder has slam ambitions, then he must take over: -

Example 8
(1)
transfer





(2)
normal accept

West
East
West
East

(3)
5-5 in the majors






(4) 
relay


( K6
( QJ875
1NT
2(
(1)
(5) 
game force, void (
( AJ8
( KQ1094
2(
(2)
2(
(3)
(6) 
sign off


( Q876
( AK4
2NT
(4)
4(
(5)
(7) 
DRKCB
( KQ52
( -
4(
(6)
4(
(7)
(8) 
2 key cards, no (/( queen 



5(
(8)
6(







pass




If West had held (A, he would not have counted it in his key card response. When partner is known to have a void, holdings in the void suit are not included in responses to Blackwood. Note that 4( at (7) is OK as DRKCB here as it cannot be a correction of the final contract, (’s are agreed.



_______________________

This next example is from the April 1994 ACBL Bulletin. The holders got to 4( and asked how 6( could be reached. Let’s see how we do it assuming no super-accept of the initial 2( transfer: -

Example 9


West
East
West
East

(1)
transfer







(2)
normal accept

( AK6
( Q10875
1NT
2(
(1)
(3)
5-5 in the majors

( Q987
( AKJ104
2(
(2)
2(
(3)
(4) 
relay


( Q87
( A6
2NT
(4)
3(
(5)
(5) 
game force, singleton (
( KQ2

( 4
?
(6)
(6)  West has two options here. He has good (’s but his values in (’s are wasted. If he attempts to sign off then East is worth another effort and should bid DRKCB over 4(.

So, if West decides to have a go, the bidding proceeds: -

West

East




3NT
(6)
4(
(7)

(6)
DRKCB

4(
(8)
4NT
(9)

(7)
3 key cards

6(


pass
(8)
queens?



(9)
(Q

And if West signs off, then East takes over and the bidding proceeds: -

West

East




4(
(6)
4(
(7)

(6)
sign off

5(
(8)
6(


(7)
DRKCB

pass




(8)
2 key cards + a (/( queen

In the ACBL article, the question was also asked how to avoid the slam if West had say 

( J9 doubleton? DRKCB sorts that out and you end up in a manageable 5(. The only type of holding that West could have where 5( may fail is this

( J9  ( Q98  ( KQJ7  ( KQJ7.

Just possible I suppose.  

When the response to DRKCB is 2 key cards plus a (/( queen then asker may need to know which queen is held (or if it’s both queens). So the next free bid asks about queens and the responses are: - 

Next step
=
(Q
 

Next step + 1
=
(Q


Next step + 2
=
both queens
Example 10


West
East
West
East

(1)
transfer







(2)
normal accept

( A943
( KQ752
1NT
2(
(1)
(3)
5-5 in the majors

( AJ8
( KQ1094
2(
(2)
2(
(3)
(4) relay


( A87
( 9
2NT
(4)
3(
(5)
(5) game forcing
( A82

( 96

3(
(6)
3(
(7)

(6) relay






3(
(8)
4(
(9)
(7) weak doubleton (




4NT
(10)
5(
(11)

(8)  DRKCB




7(

pass


(9)  2 key cards + a (/( queen










 (10)
clarify queens










 (11)
both



Example 11


West
East
West
East

(1)
transfer







(2)
normal accept

( A943
( KQ752
1NT
2(
(1)
(3)
5-5 in the majors

( AJ8
( K10974
2(
(2)
2(
(3)
(4) relay


( A87
( Q
2NT
(4)
3(
(5)
(5) game forcing
( A82

( Q6

3(
(6)
3(
(7)

(6) relay






3(
(8)
4(
(9)
(7) weak doubleton (




4NT
(10)
5(
(11)

(8)  DRKCB




6(

pass


(9)  2 key cards + a (/( queen










 (10)
clarify queens










 (11)
(Q only


Notice that the major suit queen of example 10 is much better than the minor suit queens of example 11.


3.1.4.2
6-5 or 5-6 in the Majors

Back in section 3.1.4 I said that after 1NT - 2( - 2( - 2( - 2NT - 3( - 3( that the responses to the 3( enquiry could be extended to show 6-5 and 5-6 in the majors. The complete scheme is: 

After 1NT - 2( - 2( - 2( - 2NT - 3(,  3( by opener asks: -

3(
=
small doubleton ( (thus a singleton ()


3(
=
small doubleton ( (thus a singleton ()

3NT
=
DRKCB

4(
=
small triplet ( or 6-5 or 5-6 with a weak doubleton ( (thus a ( void)

4(
=
small triplet ( or 6-5 or 5-6 with a weak doubleton ( (thus a ( void)

4(
=
5-6-1-1 or 6-5-1-1

Example 12
There is an alternative way of bidding this example overleaf.

West
East
West

East

(1)
transfer








(2)
normal accept

( AQ94
( KJ752
1NT

2(
(1)
(3)
in the majors

( AJ8
( KQ10964
2(
(2)
2(
(3)
(4)
relay


( Q87
( J
2NT
(4)
3(
(5)
(5)
game forcing

( A82

( K
3(
(6)
4(
(7)

(6)
relay



4NT
(8)
5(
(9)

(7) 5-6-1-1 or 6-5-1-1



6(

pass



(8)
DRKCB











(9)
2 key cards + a (/( queen

Example 13

There is no mechanism (unless you want to make it really complicated) to show 5-6 or 6-5 and a void with a weak doubleton. The best compromise is to show 5-5 and a weak triplet (thus indicating the important feature – the void). Exclusion DRKCB (see next page) is not recommended with a weak doubleton.

West
East
West

East

(1)
transfer








(2)
normal accept

( AQ94
( KJ752
1NT

2(
(1)
(3)
5-5 in the majors

( AJ8
( KQ10963
2(
(2)
2(
(3)
(4)
relay


( Q87
( -
2NT
(4)
3(
(5)
(5)
5-5 game forcing

( A82

( 97
3(
(6)
4(
(7)

(6)
relay



4(
(8)
5(
(9)

(7) weak triplet ( (so a ( void)



7(

pass



(8)
DRKCB




 






(9)
2 key cards + a (/( queen


West knows that 2 (’s can be discarded on long (’s. The extra ( just makes life simpler as only 2 (’s now need to be ruffed.

When responder has two singletons, it may simply be better to take charge.

Example 12 (alternative bidding).


West
East
West

East

(1)
transfer








(2)
normal accept

( AQ94
( KJ752
1NT

2(
(1)
(3)
5-5 in the majors

( AJ8
( KQ10964
2(
(2)
2(
(3)
(4)
relay


( Q87
( J
2NT
(4)
3(
(5)
(5)
game forcing

( A82

( K
3(
(6)
3NT
(7)

(6)
relay



4(
(8)
4(
(9)

(7) DRKCB




4NT
(10)
6(



(8)
3 key cards




6(

pass



(9)
queens?





       (10)
(Q

West knows that responder is at least 5-5 and so corrects to the 5-4 ( fit. Opener would also correct if 3-2 in the majors.

This example shows why we need 3NT as the DRKCB bid, you may get too high if DRKCB starts off at 4NT and you need to ask for key queens which partner does not have.


_______________________

And when responder is 6-5 or 5-6 with a void but a non-weak doubleton, it may also be best to take charge. We have seen that 3NT after the 3( relay (at (7) above) is DRKCB. A jump to 5( or 5( is Exclusion DRKCB (EDRKCB), whereby the answers do not count honours in the exclusion suit: -

Example 14


West
East
West

East

(1)
transfer








(2)
normal accept

( AQ94
( KJ752
1NT

2(
(1)
(3)
5-5 in the majors

( AJ8
( KQ10964
2(
(2)
2(
(3)
(4)
relay


( Q87
( -
2NT
(4)
5(
(5)
(5) EDRKCB

( A82

( Q6
5(
(6)
5NT
(7)

(6)
3 key cards outside (’s




6(
(8)
7(



(7)
queens?




7(
(9)
pass



(8)
(Q

(9) West again corrects the final contract.

Note
Note that we do get rather high here and can sometimes have problems if West has 
just the (Q and East does not have the (Q.  So you may prefer to use the otherwise idle bids of 4( and 4NT as EDRKCB for (’s and (’s resp.
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